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BACHELOR'S DEGREE PROGRAMME 
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ELECTIVE COURSE : COMMERCE 

ECO-7 : ELEMENTS OF STATISTICS 

Time : 2 hours 	 Maximum Marks : 50 
Weightage : 70% 

Note : There are three sections and all are compulsory. 

SECTION - A 

1. 	Fill in the blanks with appropriate word(s) given 
in brackets : 	 5x1=5 

(a) There are 	universally accepted 
methods of approximation. (three/four) 

(b) Bars are 	. (one dimensional/ 
two dimensional) 

(c) Skewness is positive when mean is 
	 mode (Lesser than/Greater 
than) 

(d) The last step of a statistical survey is to write 
a 	 . (Report/Questionnaire) 

(e) Ratios, percentages, rates etc. are 
	 derivatives. (Simple/Typical) 
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2. 	State whether the statements given below are True 
or False. 	 5x1=5 
(a) Sum of the deviation from the median is 

least. 
(b) Statistical tables are useful in analysis. 
(c) The values dividing a series into four equal 

parts are called quartiles. 
(d) In an asymmetrical distribution mean, 

median and mode coincide. 
(e) Harmonic mean of 6 and 12 is 9. 

SECTION - B 

Attempt any two of the following : 

	

3. 	'Statistics are like proposals of marriage - they 15 
should be, but rarely are, studied and considered 
very deliberately upon all round merits". In the 
light of this statement, examine the functions and 
limitations of statistics. 

4. 	Draw histogram for the following data and locate 15 
the mode : 

Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 
f 4 10 16 72 20 18 8 2 

5. The arithmetic mean and standard deviation of a 15 
series of 20 items were calculated by a student as 
20 cms and 5 cms respectively. But, while 
calculating them an item 13 was misread as 30. 
Find the correct arithmetic mean and standard 
deviations. 

6. (a) Calculate simple geometric mean from the 10+5 
following series : 
133, 141, 125, 173, 182 

(b) Identify drawbacks of geometric mean. 
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SECTION - C 

7. 	Distinguish between any two of the following : 5+5 

(a) Biased and unbiased errors 

(b) Classification and Tabulation 

(c) Quartiles and Deciles 

(d) Geometric Mean and Harmonic Mean 
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